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CT Signals and Systems — Response of a CT LTI System
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CT System Properties — Sifting Property (cont’d)

Note that z(t) x 6(t — to) is different from z(¢) 6(t —to). The expression on the
left is convolution of two signals and the expression on the right is pointwise
multiplication.
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2(t) 6(t — to) = 2(to) 6(¢ — to)

which is a scaled impulse response.
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Sec. 1.4 The Unit Impulse and Unit Step Functions 35

interval of integration Interval of integration

@ (a)

Interval of integration Interval of integration

o

B
3

Q

=4

Q

(b) (b)

Figure 1.37 Running integral given in eq. (1.71): Figure 1.38 Relationship given in eq. (1.75);
(@) t<0; (b) t > 0. (@) t<0; (b) t>0.



Impulses and More — Additional Results (cont’d)

We can represent this as:

J d e _du(t)
u(t) — = 5(t) =

Fig: Differentiator with Unit Step Input

where the ad; inside the box is not the impulse response but denotes an
operator. (cont'd)
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